| total events O=anyInput 8=anyAccept |

Entries
Mean

RMS

22682
1.822

2.643

Input: 1=btow, 2=etaw

2 3 4 5 6 7 8 9

Accept: 4=oneJet, 5=diJet, 6=rnd

L2 time used per input event Entries 1289923
000 Mean 70.67
E -

g = {\ RMS 12.67

z [

00010 B T TR P RTINS

30000+ {-he = oiermmmm et

200005 oo b

10000 -++++--f-eeeeeh b b
O_Illlillll IlilIIIiIIIIiIIIIiIIIIiIIII

0 50

100 150 200 250 300 350

x: time (CPU kTics)

400

|rate of input events

y: rate (Hz)

w
o1

N
o

w
o

N
a1

20

15

10

Entries 17764
Mean 279.1
T B 7 e e e |RMS 1418

1500 2000 25
X: time in this run (seconds)

1000

00

4ccpet rate blue:monoJet, red:diJet, black:randon1 Entries 1350
’E\ Mean 278.1
o RMS 1431
g
-

reeeeens _--' ---------------------------------------- ----------------------------------
YRS L A DR () SRS SN SO [N TN SN SO M [N SN SO NN T N SO MO S
0 500 1000 1500 2000 2500

X: time in this run (seconds)




BTOW tower, Et>2.0 GeV (input)

soft=1+

soft=801+

soft=1601+ k¥l Wl 5 LY L] R T it AR A D L

1 N[ i 1 1 N = i N T
0600 0o 00 Yy oy o 0o oy 00
x: BTOW softiD
BTOW to\ 0 GeV (input)

o
x: BTOW softiD.

soft=3201+

21

BTOW (o 0 GeV (inpu)

s0ft=4001+: [

500
X: BTOW softiD.



ETOW tower, Et>2.0 Gev (input)

20 e eeeaeeeeaeaaaa feeeeaeeeaaaan feeeeaeeeaaaan feeeeaeeeaaaan Mereeeeeanaeeaaaaan feeeeaeeeaaaan Ceeeeenaaaan

crate=1

rate

crate=2

: i=chan+128*crate

crate=3

x: i=chan+128*crate

crate=4

x: i=chan+128*crate

20 e eaaaaaaa e Y R [ R —— e P [
15 e e R P et ieaaaaan I IR T S et

crate=5

x: i=chan+128*crate

crate=6

=chan+128+crate




BTOW tower, Et>2.0 GeV (input) Entries 6706 | |erow

M

=
-
=

IIH
| II

*Iltl I1
P!

i
|
)

T

rr

]

O 5 10 15 20 25 30 35 40 o 2 4 6 8 10 1
X eta bln, [-l,+l] x: 12 - Endcap etaBin ,[+1,+2]



BTOW-West| Endcap

Et Jetl-Jet2 (input) ] [Entries 17764} |djJetd eta-phi (input)] Entries 17764

12 1400 30t Rkt

3 : ‘- -

o [ 3

= (]

| : : : :

T[] SR SRR R T 1200 P o5 140

2 i N N N N QS_- 120
1000 o

800

600

60
4 10
B 400
40
2 ........
20
0 0 0
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl Et/GeV x: iEta [-1,+2]
|diJet phil-phi2 (input) | Enies 17762]  [diJet2 eta-phi (input)]

BTOW-West| Endcap

BRTOW.EZ
. 30 5 30 400
g Ead
8 120
[ 0 SRR Loos 350
g 00 &
[N : : z 300
> 20 T 20
: 80 250
15 S ... e 15 qzoo
; 5 60
i | 150
lo “ ........‘: ........... 10
: 40
100
ST 20 o
0 0 0
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14

x: iPhil ~sector X: iEta [-1,+2]



Jetl Et (input) Entries 17764 Jet2 Et (input) Entries 17764

T TTTTTTITI T T ] Mean 5.383 104 ={Mean 2.297
“{rRMS 2.093 i [RMS 1.274
10° 100 Ll SRR S S
107 = 102 —--o-a- - -------------- -------------- S -------------
10 1) E.. - AR R SRR R S
1 i i 1 et [T e
0 10 20 30 40 50 60 I 60
x: Et (GeV) x: Et (GeV)
#BTOW towers>ped+8 (input) | Entries 17764 total Et (input) Entries 17764
C T T T T T T T | Mean 32.27 T U T ; T|Mean 18.57
- : : : : : : : © |RMS 14 :|RMS 5.26

ol i e R
0 20 40 60 80 100 120 140 160 180 200 0 10 20 30 40 60
x: # of towers/event x: Et (GeV)
# ETOW towers>ped+8 (input) | Entries 17764

Mean 19.94
RMS 11.39

600

500

400

300

200

100

N S I PR SN B | j
0 10 20 30 40 50 60 70 80 90 100
x: # of towers/event




one-Jet Et (accepted) |

10°E

Entries 1350

one-

10°

10

0 10 20 30 40 50 60
X: jet Et (GeV)

y: iPhi ~sector

Jet eta-phi (accepted)

D TUYV

0 2 4 6 8 10

Entries 1350

90F
80
70
60

50

40

30

20

10

0 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1
0 5 10 15 20 25 30
x: iPhi ~sector

180

160

140

120

100

80

60

40

20

-West| Endcap

Entries 1350

12 14

X:

iEta [-1,+2]

30

25

20

15

Entries 1350

0 2 4 6 8 10

12 14

x: iEta [-1,+2]



|Et of Jetl vs. Jet2 (accepted)]

>
)

Jet2/G

12

10

0 2 4 6 8 10 12

x: Jetl/GeV

Entries 1209

Totl etao od
d J3e0t tap (accepé.JlV-West Endcap

g 25
(]

? 25

<

D_. 20
>

0 2 4 6 8 10 12

15

10

14

x: iEta [-1,+2]

y: iPhi2 ~sector

30

N
¢

x: iPhil ~sector

Entries 1209

18

16

14

12

v -West| Endcap

0 ||-|i|

0 2 4 6 8 10 12

14

X: iEta [-1,+2]



|diJet Et (accepted)| Entries 1209 |diJet eta (accepted)| Entries 1209
r]Mean  8.378 180" T R T —{Mean  8.609

:IRMS  3.404 - : : i i : RMS  3.93
' 160+ Breneeeen e franeccasea: RN IARE] (AR .

A RS R S o o =

10°

"""" : R T e ! i

ighErjer - —— 100t High Et jet
--- Low Et jet : 80 : ’ --- Low Etjet R AL B

10

CHSHRRBLIN bk B SR N S S

...... 40 . . —

.............................................................

L s s S QO

i T e e el )l | 'J"'L"J"t'j"l"ﬂ:r"L"i"'L"J"L" C o0 | [ | L1 | [ | T | | T | | T | | 1
0 10 20 30 40 50 60 0 2 4 6 8 10 12 14
x: Et (GeV) x: i Eta[-1,+2]

[EEN

|diJet phi (accepted)] Entries 1209 [diJet delZeta (accepted)] Entries 1209
|Mean  14.42 T T T T T Mean 30.92

(|[RMS  9.037 -

N — IS S AR S ;
: : : : : : : : : RMS  5.779
140F—--eveo- e Rl £ EEEI :

GO :

TR T e
50 e e it e E e
T ] e e RN

40 /= High Et jet
--- Low Et jet : : : : : :
. SR 10 U S e Jd

B0

30

20 """"""" """"""" """"""" /Yo AU SRR SURFUIN I SN LI

T R e SSCHN S 1 T T ¥

1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 0 C 11 11 i_'_:_'—l 1 1 i 1 11 1 i 11 1 1 I 1 1 |_I—I-Li—| el S i 1
0 5 10 15 20 25 30 0 10 20 30 40 50 60
x: iPhi ~sector x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted) |

Entries

y: delta zeta (rad*10)

Mean x

Mean

2 4 6 8 10 12 14
x: iEtal [-1,+2]

|diJet delZeta vs. avrPhi (accepted)|

Entries

x: iEta2 [-1,+2]

Fxlean X
eany

10

12 14
x: iEtal [-1,+2]

Entries

y: delta zeta (rad*10)

Mean x

Mean y

...........................

1209
14.59
30.92

............................

................................................

1O

5 10 15 20 25

x: (iphil+iphi2)/2 (12 deg/bin)

30

80

60

40

20

Entries 1209

22.87

:|Mean

.................................................................................

o .—I—- 11 )
50 60
x: Et (GeV)

20 30 40



|Et of Jetl vs. Jet2 (accepted_EE)| Entries 217 |d|Jet1 eta-phi (accepted EE)|
" 20 RTO\/\I FRQ]‘ D TOUvVV-vVvVE Endcap 6
> - : ;
) ) -
LSRETo] S O S N S 60 P onf b —
N N N N N < B
i £ LC
—50 - r
0| A R e S
40 i
15:_ .......................................................................
—30 -
L] EER SRR SR IO SURUROROT SOPRO
20 C
§ 10 ] IR KL SIS S
0|||||||||||i||||||||||| O 0_|||i|||i||i|||i|||
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl/GeV x: iEta [-1,+2]
|diJet phil-phi2 (accepted EE)| Entries 217 [diJet2 eta-phi (accepted_ EE)| Entries 217
30 5 30 RTﬂ\/\I |:9Qf DTOvVV-vVve Endcap
5 I b N S -
g ' : 8 L
o : b3 -
25 L 2B
o e o
= o -
[ - T
. > -
> 20 p 10| T S S PP [T TR PP
15 L] R RCTAtes Sttt] IEC: SISRIR SRS B
10 10 R acs Sett IO SROPES: SRS
S TN - .. S TS M
-. : ’l 0.5 -
1 1 1 1 I . 1 1 I - 1 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O O_I 1 1 i 1 1 1 i 1 1 i 1 1 1 i 1 1 1 1 1 1 I 1

O

10 15 20 25

x: iPhil ~sector

30

0 2 4

6 8

10

12 14
X: iEta [-1,+2]




|diJet Et (accepted EE) |

Entries

10

10

—|Mean

:|RMS

217
5.32

1.132

T

L

40 50
x: Et (GeV)

|diJet eta (accepted EE) |

Entries

70—
60—
50—

40—

Mean

RMS

.......................................................................

217
12.76

1.098

..................................

——High Etjet |-

- --- Low Et jet :
e T AR SRR MR SRR
20—+t S SLCITITIITE SO [RONS SN S
(1] SRS SRS S TS I R SIS
:J i — l N L i i — LJ: o — l " — -I--I 1 i 1 1 1 i 1

12 14
x: i Eta[-1,+2]

Entries

14

12

0 5

B . . . . . Mean

' IRMS

217
13.29
8.626

[ RED'Jet1ET >

10 15 20
x: iPhi ~sector

25 30

Entries

16

14

12

10

L """"" '. L

Mean

217
32.02
8.386

RMS

....................................

..................................

20 30 40 50 60

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted EE)] Entries

Mean x

y: delta zeta (rad*10)

217
12.76

32.02

Mean y

.

2
1
0

0 2 4 6 8 10 12 14
x: iEtal [-1,+2]

|diJet eta2 vs. etal (accepted_EE)|

Entries

x: iEta2 [-1,+2]

15N
O

Endcaf)ican x

B TQV\/ eany

[ee]

2 4 6 8 10 12 14
x: iEtal [-1,+2]

diJet delZeta vs. avrPhi (accepted_EE) | Entries

y: delta zeta (rad*10)

Mean x
Mean y

217
13.91
32.02

1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1
1O 5 10 15 20 25 30
x: (iphil+iphi2)/2 (12 deg/bin)

|tota| Et diJet (accepted_EE) | Entries

35

:|Mean

...................................................................................
................................................................................

1 1 1 1 i 1 1 1 1 i 1 1 1 1 i_| 1 1 1 i 1 1 11 i 1 1 1 1

10 20 30 40 50 60
x: Et (GeV)




[Et of Jetl vs. Jet2 (accepted EB)] Envies  266] |diJetl eta-phi (accepted EB)] Entries 266

12 : : : : : ) 30_ RTQ\/\/—FF:IQf l:Dluvv-vveSt Endcap
8 i : : : : : 70 g N : :
~ w —
% 10 P R SO T VOO O
B 60 = B
&
50 el Y| NERUUUUIUUIURU OO USSR I
40 C
15__ ....................................
30 -
IR SRR ERRSUNNEERE | iR
20 -
5:_ ...........................................

Olllilllillilllilll

0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl/GeV x: iEta [-1,+2]
|diJet phil-phi2 (accepted EB)| Entries 266 |diJet2 eta-phi (accepted EB)| Entries 266
30 5 30 BTOW-East D Tovv-vvest Endcap
S s T F : : 5 '
3 s :
s o 5
4 25 LB R,
= T [ -
o = F :
> 20 20__ """""""""""""" - """"""""
15 L] SRt SEN e
C —
10 L] Rt Sl -
5 5 [y - """
0 I 1 1 1 1 I 1 1 1 1 O O C 1 1 1 i 1 1 1 i 1 1 i 1 O
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14

x: iPhil ~sector X: iEta [-1,+2]



|diJet Et

Entries

(accepted EB)|

10°

—|Mean

Z]RMS

266
7.5
1.499

....................................................................

..............................................................................

— High Et jet
--- Low Et jet

20 40 50

x: Et (GeV)

|diJet eta (accepted EB) |

70

60

50

40

30

20

10

Entries

Mean

‘IRMS

266
11.28
1.64

—

—High Etje

--- Low Et jet

6 8 10

Entries

18

16

14

12

0 5

—|Mean
. [RMS

266
14.78
8.638

- RED Jetl ET S GREEN Jet2 BT

10 15 20 25 3
x: iPhi ~sector

0

25

20

15

10

12 14
x: i Eta[-1,+2]

Entries

30

....................................................................

Mean

266
30.81
5.709

RMS

...............................................................................

ML

20

30 40

50 60

x: delta zeta (rad*10)




. Entries 266
|d|Jet delZeta vs. etal (accepted_EB)| oy 118
s : Meany  30.81
-] i S S R
g : °
T e _ ...................... —8
(0] .

N
8
3 40
i

30

20

10

OIllillliIllilllilllilllilllil

2
1
0

0 2 4 6 8 10 12 14
x: iEtal [-1,+2]

|diJet eta2 vs. etal (accepted_EB)|

14— o R

12

x: iEta2 [-1,+2]

15N

Olllilllilllilllilll

Endca

266
11.28
10.96

Entries

mean X

eany

0 2 4 6 8 10 12

||i| O
14

x: iEtal [-1,+2]

diJet delZeta vs. avrPhi (accepted_EB) |

Entries

y: delta zeta (rad*10)

Mean x
Mean y

.........................

266
14.77
30.81

—5

x: (iphil+iphi2)/2 (12 deg/bin)

1 1 1 1 i 1 11 1 i 1 1 11 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1
1O 5 10 15 20 25 30

ltotal Et diJet (accepted EB)|

Entries 266

30

25

............................................

20

15

..................

10

..............

21.1

:|Mean

.................................

[ |J_!_|| L1 |
40 50
X

O 1 1 1 1 i 1 1 1 1 i
10 20

o

30

60
Et (GeV)



[Et of Jetl vs. Jet2 (accepted_BB)| Enwies  850] |djJetl eta-phi (accepted BB) Entries 850

>12 . . . . : _ R .A DTUVVEVV
2 i : : : : : S
2 10 L
i T
)

6 ......
4 .....
2
T
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl/GeV x: iEta [-1,+2]
|diJet phil-phi2 (accepted BB)] Enties  850]  [djJet2 eta-phi (accepted BB)
R O\\/- DTUVVEVV
30 1 L
o (&)
tr) (0]
? s B S eSO S 12 ? ool T N
N =
e o
< T
= 5 5 5 5 10 5
S 20 . o e oo | T 20 S

T e e =

oM AU S— R — .

1 1 1 1 i 1 1 1 - 1 1
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14
x: iPhil ~sector X: iEta [-1,+2]




|diJet Et (accepted BB)| Entries
Fr e Mean 9,
[ RMS. 3,

10°

10

850
429
484

............................................................................

— High Et jet

'": """ --- Low Et jet

- "l'"L'L'l"'E'J"L"Hl’"l"l'"L'"l"'L"

30 40 50 60
x: Et (GeV)

|diJet eta (accepted BB)| Entries 850
: : Mean 7.124
| e RMs 3676
80F -+ . .......................................... [allalle FUURS SUROUURRR
5 T
70 == SR ARRIE REDEL REEE E """ ERER-REEED """_"_'3 """ R P ERE SIEE
60 Ao SR RN SN S

50

e —Tion et 1]

...........................................

40

30

20

10

--- Low Et jet

o

2 4 6 8 10 12 14

x: i Eta[-1,+2]

850

14.49
9.161

|diJet phi (accepted BB)| Entries
GO T Mean
E 1 ilrms
R SCIRRtIOTILEs EEMNIRSE SHESRE S B IS SRR
- =y ! 1

10

0 5

— High Etje
--- Low Et jet

Izl 1L

RED Jetl ET > GREEN Jet2 ET

10 15 20 25 30
x: iPhi ~sector

|diJet delZeta (accepted BB)]

Entries

120[—
100{—
80—
60—
40 :—

20—

Mean
RMS

850
30.72

4.785

....................................................................................

...................................................................................

& -z:p}-hi-(a 1J2) >

IIIIIiIIII II|_|—|_|i—|I 11 | il

20 30 40 50 60

x: delta zeta (rad*10)




Mean x 7,124
Mean 30.72 )

|diJet delZeta vs. etal (accepted BB)] Entries 850 |diJet eta2 vs. etal (a Entries 850

Fmeanx 7.124
eany 6.455

y: delta zeta (rad*10)
x: iEta2 [-1,+2]

0 T | | T | | T | | 111 | 11 | 11 | 111 | 1 0
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]

Entries 850

Mean x  14.61

diJet delZetavs. avrPhi (accepted BB) | Entries 850 |total Et diJet (accepted_BB)|

N R Y 302 ‘|Mean 2452
fc .
E .................................................................................................
S TR W —— - — s~ —— o - —
%
N e e T, Bess . o gam mmmmmm || R ) e e et e et e Tl et e et e
e i e
3
o
S\ ............................................
1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 I_I I_I l_i_| 1 [ | 1
b 5 10 15 20 25 30 0 10 20 30 40 50 60

x: (iphil+iphi2)/2 (12 deg/bin) x: Et (GeV)



